



RANKING SERIES BAJAS
CAMPEONATO NACIONAL DE REMOERGOMETRO

PRE- ALEVINES FEMENINO				250 MTS.			
Nº	NOMBRE	AÑO/NAC	CLUB	TIEMPO	PROM/500	WATTS	N/P
1	RAFAELA SANDOVAL	25-05-10	NAHUEL	00:59,6	01:59,2	207	45
2	SURI CIFUENTES TORRES	30-11-10	LLACOLÉN	01:08,0	02:16,0	139	46
3	ANTONELLA ZUÑIGA SERÓN	2010	ESTRELLA BLANCA	01:09,3	02:18,6	131	44
4	LAURA GOTELLI ESCOBAR	29-11-10	LLACOLÉN	01:10,0	02:20,0	128	37
5	JAVIERA CABEZAS	2010	REGATAS VALPARAISO	01:12,9	02:25,8	113	34
6	ISABELLA HERNÁNDEZ REBOLLEDO	2012	REGATAS SAN PEDRO	01:32,3	03:04,6	56	26
7	AGUSTINA RUIZ URIBE	2012	VIENTO Y MAREA	01:32,4	03:04,8		44
8	ANTONIA BARRA	2011	REGATAS VALDIVIA	01:35,2	03:10,4	51	45
9	ARANZA CHIPINÉ FUENTES	04-07-12	REGATAS VALDIVIA	01:55,2	03:50,4	28,6	44

PRE-ALEVINES MASCULINO				250 MTS.			
Nº	NOMBRE	AÑO/NAC	CLUB	TIEMPO	PROM/500	WATTS	N/P
1	LUCAS ROMAN PINCHEIRA	03-07-10	REGATAS MIRAMAR	01:03,6	02:07,2	170	39
2	CLEMENTE FUENTES BARRALES	05-07-10	CANOTTIERI ITALIANO VALPARAISO	01:04,7	01:04,7	162	39
3	NICOLAS ECHEVERRIA	28-07-10	NAHUEL	01:06,3	02:12,7	150	45
4	MAXIMILIANO MERCADO LOVELL	2010	CENTENARIO	01:07,7	02:15,4	141	39
5	CLAUDIO VERA ALARCON	15-05-10	CDE INGER	01:08,0	02:16,2	139	
6	MARTIN MANOSALBA PEREZ	2011	CENTENARIO	01:08,7	02:17,4	135	45
7	BASTIAN GOMEZ BARRIENTOS	2010	ARTURO PRAT	01:09,4	02:18,8	131	42
8	AGUSTIN ARRIAGADA	07-07-10	NAHUEL	01:09,6	02:19,2	130	35
9	EDUARDO MOLINA KENNER	2010	CENTENARIO	01:09,7	02:19,4	128	43
10	FRANZ SHORWER	19-03-10	LLACOLÉN	01:14,1	02:28,2	108	44
11	TOBIAS CAAMAÑO ROJAS	2010	CANOTTIERI ITALIANO	01:15,1	02:30,2	103	37
12	MATEO JAQUE	2011	REGATAS VALDIVIA	01:16,6	02:33,2	97	50
13	IGNACIO MUÑOZ COSTERNAS	2011	CANOTTIERI ITALIANO	01:17,1	02:34,2	96	55
14	SANTIAGO GAVILÁN MAYORGA	2010	ESTRELLA BLANCA	01:18,5	02:37,0	90	38
15	JUAN WEBER	04-07-12	REGATAS VALDIVIA	01:24,8	02:49,6	71	48
16	SALVADOR PÉRES SOTO	2010	REGATAS SAN PEDRO	01:25,2	02:50,4		43
17	MARIO POVEDA TRONCOSO	2012	CENTENARIO	01:28,5	02:57,4	63	47
18	BENJAMÍN MALDONADO TRUJILLO	2011	ESTRELLA BLANCA	01:31,3	03:02,6	57	38
19	JESUS NAVARRETE PAINENANCO	2012	REGATAS VALDIVIA	02:04,9	04:09,8	23	30

ALEVINES FEMENINO				500 MTS.			
Nº	NOMBRE	AÑO/NAC	CLUB	TIEMPO	PROM/500	WATTS	N/P
1	CARLA BLASQUEZ FLORES	23-01-08	LLACOLÉN	01:55,9	01:55,9	225	38
2	AMANDA ARANEDA TORRES	23-04-08	CDE INGER	01:58,0	01:58,0	213	
3	ISABEL GOTELLI ESCOBAR	07-10-08	LLACOLÉN	01:58,5	01:58,5	210	39
4	VICTORIA PEREZ GARCIA	11-02-08	SAUSALITO	02:02,7	02:02,7	189	36
5	JOSEFA CÁCERES MAYORGA	2008	ESTRELLA BLANCA	02:04,1	2:04,1	183	33
6	SOFIA AYALA CRUZ	27-10-08	SAUSALITO	02:09,6	02:09,6	161	33
7	PAZ OLIVA ALARCON	20-08-08	SAUSALITO	02:09,8	02:09,8	160	36
8	JOSEFA OPAZO	24-06-08	NAHUEL	02:10,5	02:10,5	157	34
9	ROMINA MARTINEZ OYARCE	19-11-08	SAUSALITO	02:11,1	02:11,1	155	36
10	CATALINA CALDERON	29-04-09	NAHUEL	02:11,6	02:11,6	154	36
11	ANTONELLA HENRÍQUEZ	2009	REGATAS VALPARAÍSO	02:12,6	02:12,6	150	37
12	VICTORIA JARA MAYORGA	2008	ESTRELLA BLANCA	02:13,8	2:13,8	146	35
13	AGUSTINA CARVAJAL SALGADO	21-11-08	SAUSALITO	02:14,5	02:14,5	144	42
14	ANTONIA TERAUCÁN OSORIO	2008	ESTRELLA BLANCA	02:14,7	2:14,7	143	34
15	EMILIA BUSTAMANTE	30-06-05	VIENTO Y MAREA	02:14,8	02:14,8		33
16	ISIDORA CARREÑO	2008	ARTURO PRAT	02:15,4	02:15,4	141	34
17	VALENTINA ARAYA PALACIOS	07-12-2009	CANOTTIERI ITALIANO VALPARAISO	02:22,3	02:22,3	121	35
18	MICAELA HOFFMAN OCARANZA	2008	PHOENIX	02:23,8	02:23,8	118	34
19	MONSERRAT JARA	19-04-08	NAHUEL	02:25,6	02:25,6	113	31
20	AYLEEN SCHÄLSCHLI VEGA	04-05-09	LLACOLÉN	02:26,2	02:26,2	112	36
21	KARIS VERA	2008	ESTRELLA BLANCA	02:26,3	2:26,3	112	39
22	EMILIA NAVARRETE PEÑA	28-05-09	LLACOLÉN	02:39,0	02:39,0	87	42
23	MONSERRAT CASTILLO MORALES	25-11-09	SAUSALITO	02:43,1	02:43,1	81	39

ALEVINES MASCULINO				500 MTS.			
Nº	NOMBRE	AÑO/NAC	CLUB	TIEMPO	PROM/500	WATTS	N/P
1	CLEMENTE GROB CONCHA	2008	VIENTO SUR	01:51,7	01:51,7	251	41
2	GABIEL BASILE SILVA	2008	VIENTO Y MAREA	01:53,9	01:53,9	237	34
3	TOMAS ANTONIO VIÑALD ESTRADA	27-06-08	LLACOLÉN	01:55,0	01:55,0	230	30
4	IÑIGO REYES ZENTENO	10-12-08	LLACOLÉN	01:55,1	01:55,1	229	38
5	LEON BADILLO MICHEA	20-03-08	SAUSALITO	01:57,6	01:57,6	215	40
6	TOMAS ALVAREZ NANNIG	2008	VIENTO SUR	01:58,8	01:58,8	209	39
7	FERMIN RAMÍREZ BRAVO	2008	ESTRELLA BLANCA	02:02,0	2:02,0	193	40
8	BASTIAN NAVARRO VILLARROEL	20-03-08	CANOTTIERI ITALIANO VALPARAISO	02:04,6	02:04,6	181	38
9	ESTEBAN IGNACIO PEÑA OPAZO	12-01-08	LLACOLÉN	02:04,8	02:04,8	180	37
10	LUCAS KASIC KASIC	2009	ESTRELLA BLANCA	02:04,8	2:04,8	180	37
11	LUIS BORQUEZ MERCADO	2007	CENTENARIO	02:05,1	02:05,1	179	39

12	GABRIEL ROMAN PINCHEIRA	11-03-09	REGATAS MIRAMAR	02:05,9	02:05,9	175	38
13	FELIPE VERGARA	22-07-08	NAHUEL	02:06,5	02:06,5	173	38
14	MATEO FIGEROA	2008	PHOENIX	02:07,9	02:08,0	162	38
15	ESTEFANO LIZAMA NEIRA	18-01-08	SAUSALITO	02:08,7	02:08,7	164	38
16	PABLO ZAMORA	2009	REGATAS VALPARAÍSO	02:10,8	02:10,8	156	34
17	SANTIAGO NANNIG ROJAS	2008	PHOENIX	02:10,9	02:10,9	156	37
18	LUCAS DE LA FUENTE	11-12-08	NAHUEL	02:11,7	02:11,7	153	39
19	TOMAS SEREY CANCINO	2008	CANOTTIERI ITALIANO	02:14,9	02:14,9	143	38
20	FEDERICO LUARTE MAURELIA	15-07-08	CDE INGER	02:15,1	02:15,1	143	
21	MARCELO BARRA	2009	REGATAS VALDIVIA	02:15,7	02:15,7	140	36
22	RENATO JARA MAYORGA	2009	ESTRELLA BLANCA	02:17,5	02:17,5	135	34
23	MARTIN AGUILERA FLORES	2008	VIENTO Y MAREA	02:17,7	02:17,7		31
24	IGNACIO PAILLACAR RIVERA	2008	ESTRELLA BLANCA	02:18,0	02:18,0	133	37
25	CRISTOBAL BUSTAMANTE URIBE	2008	ESTRELLA BLANCA	02:18,2	02:18,2	133	32
26	JUAN SYMMES	2009	REGATAS VALPARAÍSO	02:19,7	02:19,7	128	28
27	NICOLAS MARIN RODRIGUEZ	02-12-08	CANOTTIERI ITALIANO VALPARAISO	02:20,9	02:20,9	125	37
28	PABLO ZUÑIGA SERÓN	2009	ESTRELLA BLANCA	02:21,5	02:21,5	124	35
29	MIGUEL URRASOTO	2008	ARTURO PRAT	02:21,8	02:21,8	123	34
30	AGUSTIN JARA MENDOZA	2009	REGATAS SAN PEDRO	02:22,3	02:22,3	121	41
31	LUCAS CAAMAÑO ROJAS	2008	CANOTTIERI ITALIANO	02:22,8	02:22,8	120	37
32	AMARO BARTUREN	02-06-09	NAHUEL	02:27,6	02:27,6	109	42

INFANTIL FEMENINO				1.000 MTS.			
Nº	NOMBRE	AÑO/NAC	CLUB	TIEMPO	PROM/500	WATTS	N/P
1	EMILIA LIEWALD HEISE	2006	PHOENIX	03:41,1	01:50,5	259	33
2	FELIPA ROSAS VILLALOBOS	2006	VIENTO SUR	03:41,8	01:50,9	257	32
3	FLORENCIA URRASOTO	04-10-06	ARTURO PRAT	03:44,1	01:52,0	249	30
4	FLORENCIA LABRA CORREA	21-06-06	CLUB REMO PANGUIPULLI	04:00,3	02:00,1	202	33
5	CONSTANZA FIGUEROA SHARMAN	2006	VIENTO SUR	04:01,0	02:00,5	200	32
6	LAURA SEPULVEDA RIVEROS	18-08-07	ARTURO PRAT	04:02,8	02:01,4	196	30
7	FRANCISCA BERMUDEZ ZAMORA	20-11-06	CANOTTIERI ITALIANO VALPARAISO	04:03,1	02:01,5	195	31
8	CAMILA FERNANDEZ ARAYA	01-02-06	CANOTTIERI ITALIANO VALPARAISO	04:04,7	02:02,4	191	30
9	FRANCUISCA PINTO ALVALLAY	27-09-07	CANOTTIERI ITALIANO VALPARAISO	04:05,9	02:02,9	188	32
10	VICTORIA DIAZ R.	2007	REGATAS CURAUMA	04:11,6	02:05,8	176	33
11	ROCIO LOPEZ SANHUEZA	02-02-06	ARTURO PRAT	04:12,2	02:06,1	175	31
12	FLORENCIA ORTIZ ORTIZ	2007	CANOTTIERI ITALIANO	04:12,9	02:06,4	173	32
13	FLORENCIA ASTORGA DUARTE	2006	CANOTTIERI ITALIANO	04:13,6	02:06,4	172	36
14	SOFIA ESCALONA DIAZ	2007	PHOENIX	04:13,6	02:06,8	176	37
15	EMILY-LOUISE SERANDOUR	2007	PHOENIX	04:14,1	02:07,0	171	30
16	ALEJANDRA CASTILLO ARANEDA	13-04-07	LLACOLÉN	04:17,5	02:08,7	164	28
17	ANTONIA VILLAGRA ROLLERI	26-01-07	CDE INGER	04:18,1	02:09,0	163	
18	EMILIA OJEDA TORRES	29-06-05	VIENTO Y MAREA	04:19,5	02:09,7	160	27
19	BELEN RODRIGUEZ DIAZ	07-03-06	SAUSALITO	04:20,7	02:10,3	158	32
20	SOFIA CAMPOS SALANOVA	31-07-06	CANOTTIERI ITALIANO VALPARAISO	04:21,5	02:10,7	157	29
21	CAMILA JEREZ ALMONACID	13-10-07	CANOTTIERI ITALIANO VALPARAISO	04:22,1	02:11,0	156	30
22	FRANCISCA PAZ NUÑEZ BENAVIDES	21-08-07	ARTURO PRAT	04:24,7	02:12,3	151	29
23	MARTINA BIANCHI CASTRO	10-07-2007	CANOTTIERI ITALIANO VALPARAISO	04:26,4	02:13,2	148	35
24	VALENTINA WEBER	29-06-05	REGATAS VALDIVIA	04:30,3	02:15,1	142	32
25	JAVIERA VILLARROEL GALVEZ	2006	REGATAS SAN PEDRO	04:30,8	02:15,4	141	31
26	CONSTANZA ECHEVERRIA	31-03-06	NAHUEL	04:32,0	02:16,0	139	27
27	VALENTINA CABEZAS	2007	REGATAS VALPARAÍSO	04:35,6	02:17,8	134	34
28	FERNANDA MENDOZA	2006	REGATAS VALPARAÍSO	04:47,7	02:23,8	118	35
29	JOSEFA CEBALLOS CUEVAS	05-09-07	CDE INGER	04:51,7	02:25,8	113	
30	TAYS PEREIRA ARRIAGADA	2006	REGATAS SAN PEDRO	04:53,7	02:26,8		27

INFANTIL MASCULINO				1.000 MTS.			
Nº	NOMBRE	AÑO/NAC	CLUB	TIEMPO	PROM/500	WATTS	N/P
1	BRAULIO ARANEDA TORRES	07-06-06	CDE INGER	03:27,2	01:43,6	316	
2	FRANCISCO MANOSALBA PEREZ	2007	CENTENARIO	03:28,8	01:44,4	308	36
3	LUCAS ALBORNOZ BASCUR	07-06-07	LLACOLÉN	03:31,6	01:45,8	296	29
4	DANIEL ROMAN PINCHEIRA	27-03-06	REGATAS MIRAMAR	03:33,3	01:47,0	289	35
5	MATEO CARRASCO AGUILERA	30-11-06	CANOTTIERI ITALIANO VALPARAISO	03:34,3	01:47,1	285	35
6	HUMBERTO VILLABLANCA	16-03-06	CDE INGER	03:34,4	01:47,2	284	
7	GABRIEL GOMEZ BARRIENTOS	2006	ARTURO PRAT	03:35,7	01:47,8	279	35
8	JUAN PABLO PEÑA LUNCSINGER	2006	VIENTO SUR	03:35,9	01:47,9	278	33
9	JAVIER SOLAR P.	2006	REGATAS CURAUMA	03:36,6	01:48,3	276	36
10	FERNANDO RIVAS GALLEGUILLOS	2006	CLUB ALEMAN	03:37,1	01:48,5	274	39
11	DAVID CANDIA VASQUEZ	24-03-07	SAUSALITO	03:38,3	01:49,1	269	32
12	NICOLAS DEL PINO MEDEL	01-03-06	REGATAS MIRAMAR	03:38,5	01:49,2	268	30
13	BENJAMIN MENJIBA C.	2007	REGATAS CURAUMA	03:38,7	01:49,3	268	35
14	JOAQUIN PEÑA	2006	VIENTO Y MAREA	03:39,7	01:49,8	264	33
15	JUAN MUÑIZ YAÑEZ	09-01-07	CANOTTIERI ITALIANO VALPARAISO	03:40,4	01:50,2	262	33
16	AMARO MUÑOZ ARREDONDO	2007	PHOENIX	03:40,6	01:50,3	258	32
17	ANTONIO PUEBLA PEÑA	28-07-06	CANOTTIERI ITALIANO VALPARAISO	03:41,3	01:50,6	258	34
18	DOMINGO VASQUEZ OPOTUS	2007	PHOENIX	03:42,2	01:51,1	255	33
19	PAOLO PEÑA GODOY	01-09-06	CLUB REMO PANGUIPULLI	03:43,5	01:51,7	251	37
20	SEBASTIAN ILLANES GALARCE	2006	REGATAS SAN PEDRO	03:44,9	01:52,4	246	32
21	MAURICIO VERA QUELOPANA	10-07-06	CANOTTIERI ITALIANO VALPARAISO	03:46,2	02:23,1	242	35
22	SEBASTIAN BASULTO CATALAN	2007	CENTENARIO	03:46,7	01:53,3	240	31
23	CRISTOBAL KALLEG VIAL	2007	PHOENIX	03:48,0	01:54,0	250	40
24	BENJAMIN FAUNDEZ NARVAEZ	2007	CANOTTIERI ITALIANO	03:48,4	01:54,2	235	29
25	CAMILO FUENTES GOMEZ	2007	ARTURO PRAT	03:48,5	01:54,2	235	36
26	MATIAS VALLEJO PEREZ	2007	CENTENARIO	03:48,6	01:54,3	234	38
27	MARTIN HERNANDEZ REBOLLEDO	2006	REGATAS SAN PEDRO	03:48,9	01:54,4	233	29

28	TOMAS MUÑOZ CICHERO	19-02-07	CDE INGER	03:49,7	01:54,8	231	
29	BENJAMIN OLIVA	2007	ARTURO PRAT	03:51,1	01:55,5	227	34
30	LUCIANO MONTERO PEREZ	11-08-07	CDE INGER	03:51,3	01:55,6	228	
31	RENATO PRADO BARBERIS	03-04-06	LLACOLÉN	03:52,3	01:56,1	224	30
32	TOMAS COLLAO CHACANA	23-09-06	CANOTTIERI ITALIANO VALPARAISO	03:52,8	01:56,4	222	30
33	VALENTIN CASTRO GAETE	2007	CENTENARIO	03:52,9	01:56,4	222	30
34	ARTURO CANALES MALDONADO	2006	VIENTO Y MAREA	03:55,4	01:57,7	215	34
35	JULIO VALDES	21-08-07	NAHUEL	03:55,7	01:57,8	214	32
36	PABLO TRONCOSO PINO	20-01-06	SAUSALITO	03:57,2	01:58,6	210	30
37	BENJAMIN VERGARA	31-07-07	NAHUEL	03:58,0	01:59,0	208	31
38	JOAQUIN BADILLO MICHEA	03-12-06	SAUSALITO	03:59,1	01:59,5	205	34
39	JOSUAR INAUDI GARCIA	2006	REGATAS SAN PEDRO	04:01,1	02:00,5		30
40	JORGE BERNAL	2007	REGATAS VALPARAÍSO	04:01,2	02:00,6	200	32
41	GABRIEL LINEROS	2007	REGATAS VALPARAÍSO	04:06,2	02:03,1	188	32
42	DANIEL HENRÍQUEZ	2006	REGATAS VALPARAISO	04:06,4	02:03,2	187	33
43	RENATO NUÑEZ VELASCO	24-08-06	CANOTTIERI ITALIANO VALPARAISO	04:06,4	02:03,2	186	32
44	BENJAMIN GONZALEZ CODINA	2007	CANOTTIERI ITALIANO	04:06,6	02:03,3	187	31
45	FELIPE ROJAS BOHLE	2006	ESTRELLA BLANCA	04:10,0	02:05,0	179	36
46	DANIEL NUÑEZ JARA	2007	CANOTTIERI ITALIANO	04:12,9	02:06,4	173	34
47	VICENTE BURGOS RIVAS	2007	CLUB ALEMAN	04:14,0	02:07,0	178	33
48	FELIPE BURGOS RIVA	2007	CLUB ALEMAN	04:16,6	02:08,3	173	32
49	ELVIS VOLKE TUIZ	2007	VIENTO Y MAREA	04:28,6	02:14,3	144	26
50	JAVIER OLIVARES TRONCOSO	2007	CENTENARIO	04:28,9	02:14,4	144	29
51	DIEGO ARRIAGADA	21-05-07	NAHUEL	04:34,6	02:17,3	135	32
52	MATIAS ARANDA GUZMAN	12-09-06	CANOTTIERI ITALIANO VALPARAISO	04:40,0	02:20,0	128	32
53	NICOLAS HERNANDEZ CARDEMIL	28-04-07	CANOTTIERI ITALIANO VALPARAISO	04:40,0	02:20,0	127	35
54	MARTIN MOLINA MORALES	21.03-2007	CANOTTIERI ITALIANO VALPARAISO	04:40,4	02:20,2	127	27
55	STEFANO MEZA AVEGNO	15-02-07	CANOTTIERI ITALIANO VALPARAISO	04:40,8	02:20,4	126	36
56	DAVID MALDONADO TRUJILLO	2007	ESTRELLA BLANCA	04:51,8	02:25,9	113	30